


Four solutions

not a straight line
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following



On which axis does the point (9,0) lie?

which

The graph of the equation x + 3=0 lies on which side of y axis?

The graph of the equation 2y-1=0 lie on which side of the x axis? 
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Given F=      C+32, where F is temperature in Fahrenheit and C is temperature  
in Celsius.
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Above x-axis

7

The

x = 2 and point is (2,0)

Similarly for y-axis put x = 0 =       y = -5 

Hence points are (2,0) and (0,-5)



3y - y = 21





Parallel to x-axis     =  abscissa is zero

3 units from origin is opposite direction of y-axis

=  ordinate in 3

putting n = 0, y = 3

is n + y = 4

=  n = 1

Hence point is (1,3)

Parallel to y-axis     =  ordinate is zero

2 units on left of origin =   abscissa is -2

putting  x = -2, y = 0

is  x + y = 4

=   y = 6

Hence point is (-2,6)

Putting   x = 2 and  y = 0

  =   a = 2

Now putting  x = 1 and a = 2

  =  b = 6  



so i.e.

=

Putting   x = 1 and  y = -1

  =   a = -3

any two correct solution  

Given equation is 4 x + 5 y = 28

  LHS = 4 x + 5 y

Putting  x = -2

  LHS = 42

     But  RHS = 28

Hence   LHS = RHS  
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Put   y = 145 in 5x + 20 = y

   x = 25

Let number of girl be x and no. of boys be y  

 

 

 

so

2 x 22 x x
7

 7y = 44x

, graph passes through (0,0)

Where
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of 3 units




